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Vectors A and B lie in the xv plane. We can deduce that 4 =5 if:

a) 42+4,2=B2+B2 d) A,/4,=B,/B,

b) A +4,=B,+B, e) 4,=A,and B, =R
¢} A,=B.and4,=B5,

v




[image: image2.jpg]16. The coordinate of an object is given as a function of time by x = 472 — 313, where x is in meters
and 7 is in seconds. Its average acceleration over the interval from r=0to 1 =2 s is:
a) 4m/s b) 4m/s ¢) -10m/s d) 10m/s e) —13 m/s
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Of the following situations, which one is impossible?

a) A body having velocity east and acceleration east

b) A body having velocity east and acceleration west

¢) A body having zero velocity and non-zero acceleration

d) A body having constant acceleration and variable velocity
¢) A body having constant velocity and variable acceleration




